Parshat Va'yishlach

Yaakov's return ‘back home’ from Lavan
Source sheet for TIM shiur by Menachem Leibtag/

I. What would we expect to happen
When Yaakov returns after being away for 20 years
See Br. 30:25 & 31:13 —then 31:17-18 / where he is heading...
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A. Encounter with Lavan — end of Parshat Vayetze
B. Encounter with Esav - first story in Vayishlach
C. Travel back home to see his parents
[who are living in Hebron]
D. Establish his family, raise the children - take care of his sheep
E. Fulfill his promise to build a ‘House for God’ in Bet-El

Discuss — why the Avot are nomadic
Relate to: being an “ivri” — Avraham’s original journey
When you own sheep — but don’t own land
Recall all the places Avraham & Yitzchak travelled to/from
Relate to climate in Israel/ summer/ winter

God’s command in Br. 13:14-18
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II. What did happen
A. Encounter with Lavan — end of Parshat Vayetze
B. Encounter with Esav - first story in Vayishlach
STOPS IN SUCCOT !
STOPS IN SHCHEM !
STOPS TWICE IN BET-EL !
RACEHL DIES ON THE WAY TO EFRATA =BET LECHEM
TRAVELS AND SETS UP TENT PAST MIGDAL EDER
REUVEN/ BILHA INCIDENT - STORY ABRUBTLY STOPS'!
Note — no mention of his return to see his parents or to Hebron or BeerSheva
Also He doesn’t build a ‘House for God’ — only renames the site Bet-El
Then SUMMARY VERSES AT END OF CHAPTER 35
Note how they form conclusion of “toldot yitzchak”
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Followed by the story of Yaakov & Esav - his two children
From chapter 25 thru 35 - concluding with:
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lll. The problem with the chronology
How old are Yaakov’s children in the Shchem story?
Calculate their ages when they left Padan Aram
Yaakov spends 20 years by Lavan
But only marries Leah after 7 years
When they leave Lavan
Reuven — 12 or 13
Shimon & Levi— 10 or 11
Dina — maybe 3 or 4 years old (do the math...)

Yaakov should return, and follow the same route down
the mountain range - as Avraham Avinu first arrival from Aram
l.e.

Shchem - & builds an altar

Bet -EL build an altar and calls out “b’shem Hashem”

Travels to Alonei Mamre = Hebron

Yaakov does the same, but the Torah doesn’t record the
stories in chronological order
Yaakov arrives in Israel after meeting Esav
Arrives first in Shchem — buys real-estate
Builds an altar — and thanks Hashem...
INSERT THE STORY OF HAPPENED IN SHCHEM
MANY YEARS LATER -
Arrives in Bet-El and restates his ‘promise’
After God’s confirms His promise
and his name-change to Yisrael

Discuss why the insert
Technical reason [Shchem tangent]
Thematic reason — that's why he can’t build a Temple



Psukim with the ‘parshiot’

Chapter 33 then 34 & 35
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Discuss:
The difficult decisions that Yaakov faces
As well as numerous moral dilemmas
‘Leveraging’ to take the birthright
‘Stealing’ the blessings/ lie to his father
Genetic engineering — to attain more speckled sheep
Running away from Lavan — not saying goodbye
Making a ‘treaty’ with lavan
‘Bowing down’ to Esav
[trying to runaway for Esav?]
Rescue of Dina — argument with his sons
Where to bury Rachel
How to react to what Reuven did with Bilha

Does the Torah resolve those question

Or does it become a catalyst that sparks discussion!



